THM6FE

= PR EEER FEITEE

i

K = v = 5 14 H R + 1 14 B
AT T = B ER
- BRAKE [ N
SN 6 EE 1% (391:&) /EEU—I.L\%@T%% 4 H 19 H & ~ 4 H 21 H (H) =, +%(:'x§54\
ARG E S RO 5 1 T B B ey R L sk oya
. 0% T Y 2K ok gi&%ﬁgi%&%{ﬂ@m N H K AT H% &
- . e o gt ‘ B FATT T 5 BR 45 RRHAEBZAES LI e ft
%ﬁiﬁﬁ%ﬁ;@%@gﬁ#%& 2k (164) ;ﬁ Eﬁz;ﬁ; 4 H 2 B (&) ~ 4 H 28 B (A) B S S [k
[l 3 (41%) EILAREES |5 H 3 H %) 5 H 4 A (b
BT HIK A ;;é%%%ﬁ@ 5 A 24 A (& ~ 5 A2 H (A)
S5l ;3 L 5 A Sk I T S B
P S HEMKAZ | BIlAREHS |5 A 24 A ) ~ 5 /12 B (7 DRGSR e zAs
e
MK K2 ;;;fyi C s oA oA ~ 5 A2 Ao
514205 575 o [ M X S AR IR R RS [ 1 X S B B R | (RSB RS - - TR
s 513 1R NS 6 A 1 B ~6 A 4 RO BBR|pepesigarsgn |ZAS - 905D
= =nk 504
(MRREZ - 0 - TEE -
6300 1L f i A B ER RS S EUR 6 H 8 H () « 6 H 9 H (H) 5 H R B AR UL i S s B B i}é)ﬁ%ﬁﬁgﬁﬁ- B S S L&k
1=
7 A 12 H ~ 7 H 2 H B -
510615 42 [ 75 45 SR B BB TR R AR A 22 N —— 19 H + R R I 5 B B B
P2t - RS (120) - - - AL Nl e 20 A KR A BRRBEEAS it - HHHRAS
Yo el QLH) 221385 -+ - il 7 23 1 kR 91 BB
25 H - (K& H %
AT T = B ER
N BREAS o R I
P*DES%E“ B ] 17/,:_( (391:55) /ﬁé”—l.&@%’ﬁk% 9 H 13 H (& ~ 9 A 15 H (A) 7 e I‘I‘Jﬂlﬁéﬁ/ﬁ\
;%*E[ﬂ%l%%;;j&*j(ég?ﬁkk/ﬁ\ {l}\:aﬂﬁﬁgﬁ’,ﬁg% {ﬁ\:EE] %*E%%%i*&%%£*@gﬁ %gﬁﬁjﬁ%i)}z
BUSAREPEABEF P | oy (o) [ oSS g o0 B4 ~ 9 4 22 H () PR ERE B S S Wik
BFEROC A AR UL T i 25 T BBk ‘ BARIRS-7 b7t e
Al 3w (41) EILDAREERYS: 9 H 28 B (1) - 9 H 29 H (H)
5 143 [E1RK 25 P [E H X 5 2 AR B B = AR R AR NN
10 25 H (&) ~ 10 27 A : S e o b REAFTEBS
A A - 1051198 () R ommamerkg [ ” R s [« T E AR
SIS 1024 CF) S kA A pOTHEERESE (1 08 2 B - 11 A 3 B (B) 1 H oL
. e o R UL e R B B . o
HET & HIFERT = % 42024 HIZE R — 2 12/ 228 (A) MBI [ e |NETHEEAR
; I SR PN KB AE . . ; FE R VR 1 S 2 M B 4 A
7 88 BER 7 = R #2024 (ﬁiﬁﬂﬁ)ﬁ FE (12HTH E7-138H) I HHX @Eaﬁﬂ%g;%;@%%%% EHATHEEES
06 B . e e s B ERE LS
%E@ggﬁ%‘%iﬁiﬁﬁﬂﬂﬁé\ﬁ3@45%%% I F—A 127 218 () mgm |k SRR
SR 6 AEHE AR S B BRI 7 L v a h—F A R | BT 10A5H (1) - 68 () - 128 (+) - 138 ()
SHIX WS h—TF A b HiZE 10H5H (+) «6H (H) - 12H (+) AR VR v 2 AR B R E R
1AL0E (A) R FHEsLEEkE HH 10H5H (1) - 6H (H) - 120 (+) - 130 (H)




